@ [EI=/A Simulator switch, magnetic operation 9510-...

Description

Single pole, miniaturised aircraft simulator switch with extremely fast
magnetic trip time. Blade, screw and wire wrap terminals. Aircraft
style threadneck and push/pull button with white trip indicator ring.
Current rating marked on the push button according to customer’s
request by adhesive labels or marking inserts.

US patent number: US 7,038,562 B1
US patent number: US 6,490,141 B2 (moulded threadneck)

Typical applications

Simulators.

Ordering information

Type No.

9510 switch with magnetic instantaneous trip for flight simulators
Mounting method and style
G threadneck mounting with standard push button
Threadneck design
1 M12x1x6.3
2 7/16-32UNx6.3
Number of poles
1 single pole
Accessories for threadneck
2 hex nut M12x1, aluminium, serrated lock washer 12.1/217.2, fitted
3 hex nut 7/16-32UN (aluminium),
serrated lock washer 11.3/14.9, fitted
Terminal configuration
J screw terminals with inch thread
1 6-832UNC-2B, silver plated bent 45° inwards
3 6-32UNC-2B, silver plated, with socket, bent 45° inwards
P _blade terminals
1 A6.3x0.8 DIN 46244, silver plated
W wire wrap terminal
4 pin size 1.2x1.2 EN 60352-1, gold plated, with socket
Rated voltage
FO DC24V
F1 DC28V

9510-...

Technical data

Voltage rating (Other voltage DC 24V DC 28V
ratings upon request)
Trip current <170 mA <200 mA
Trip time <25 ms <25ms

Min. switching voltage

at +23 °C/+73.4 °F DC 22V DC25V

at +60 °C/+140 °F DC 24V DC 28V
Internal resistance approx. 153 Q | approx. 153 Q

Typical life
Temperature range
Insulation resistance

Degree of protection
(IEC 60529)

Vibration (sinusoidal)

10,000 operations at rated voltage
-30...+60 °C (-22...+140 °F)
> 100 MQ (DC 500 V)

operating area IP40

terminal area IPOO

3 g (57-500 Hz), + 0.23 mm (10-57 Hz)
to DIN IEC 60068-2-6, test Fc

10 cycles/frequency axis

Accessories (terminal screws)

B Phillips screw 6-32UNC-2Ax4.8 fitted
(MS 51957-25)

Z without accessories

Accessories (terminal washers)

0 without accessories

2 3.6 split washer fitted (MS 35338-136)

Shock 59 (11 ms),
to DIN IEC 60068-2-27, test Ea
Humidity 240 hours at 95 % RH, 40 °C
to DIN IEC 60068-2-3, test Ca
Mass 23 g without hardware

26 g with hardware

Internal circuit

R2 with logic diode

Colour of the push button

S black

A green, for marking insert

B black, for marking insert

0  without marking

1 hot-stamped marking, can be
read when locating pin is
above

9  without marking insert

Current ratings

0.5...150 A

9510-G 2 1 3-J 1 F1-BO0OR2 S 1-5A ordering example

2015/16

www.e-t-a.de




@ [E1=A Simulator switch, magnetic operation 9510-...

9510-G...-J1..-B2.... -P1...
tightening torque max. 3.5 Nm * m ﬁq
M12x1 or .
w ] blade terminal
7NBZ2UN-2ATHD L 210 DIN 46244-A6.3-0.8 (QC .250)
] .394 plug-in terminals
i 8 o 0o 084 | ols 17 6.3
=25 2R 331 black or a|% 669 248
V|0 —— =T ’ reen :
o3 (e g
o|N .I:I:I.
] A ) »
CX [T [ b Whlte z Qt
- © I— hex nut
‘ 28 = -J3... ~
@ o= lock washer
8 | A1
th ; 2 terminal screw
RN < |- 6-32UNC-2A x 4.8/.189
9 i (MS 51957-25) 8
©|% with lock washer — 315
—l |_ ©o|N 591 (MS 35338-136) 10 )
- plug-in/pull-out terminal 394
terminal screw {."‘;g“'? (m?x. 10 t|mes)1 N
6-32UNC-2A x 4.8/.189 8 ightening torque max. 1 Nm
(MS 51957-25) 315
with lock washer (MS 35338-136) W4
plug-in terminals
tightening torque: ol
max. 0.8 Nm factory mounted 2| <
max. 0.4 Nm mounted by customer - ’ﬂ wire wrap pin 1.2 x 1.2 /.047 x .047
== EN 60352-1
= § = § u“;- 3 plug-in/pull-out terminal
S 7@ 127 module (max. 10 times) | 1
S S|S X mounting holes : R
RSy sE=s 9 500 10 047
A\ R -] ©3.2+0-15
W MY _ﬂ s ¢ (8 8 394
S 374 R 12600 .
N~ O W -
Ters s )
o locating pin b
218 ¢ K ] AN Internal connection diagram
current rating in A 9|4
19.5 9 eI
768 thickness 1.5 -3 mm %1%
.059 - .118 in.

internal circuit R 2

line |

This is a metric design and millimeter dimensions take precedence (%)

5-60 www.e-t-a.de 2015/16




@ [EI=/A Simulator switch, magnetic operation 9510-...

Accessories

Label (black) for push/pull button (S0)

Part number Rated current (A)

Y 307 082 01 0.5

Y 307 082 02 172

Y 307 082 03 1

Y 307 082 04 1.5

Y 307 082 05 1172

Y 307 082 06 2

Y 307 082 07 3

Y 307 082 08 5

Y 307 082 09 7.5

Y 307 082 10 7172

Y 307 082 11 10

Y 307 082 12 15

Y 307 082 13 20

Y 307 082 14 25

Y 307 082 15 30

Y 307 082 16 35

Y 307 082 17 6

Y 307 082 18 40

Y 307 082 19 50

Y 307 082 20 60

Y 307 082 21 70

Y 307 082 22 75

Y 307 082 23 80

Y 307 082 24 90

Y 307 082 25 100

Y 307 082 26 120

Y 307 082 27 125

Y 307 082 28 150

Y 307 082 29 2.5

Y 307 082 30 21/2

Y 307 082 31 31/2

Y 307 082 32 R

Y 307 082 33 5.5

Y 307 082 34 17

Y 307 082 35 4
Plug-in screw terminal,
bent at 45° inwards (2 pcs needed per unit)
Y 307 187 02 terminal silver plated
Y 304 508 02 Phillips screw 6-32 UNC-2Ax4.8 (MS 51957-25)
Y 304 509 01 split washer (MS 35338-136)
Plug-in blade terminal (2 pcs needed per unit)
Y 307 202 02 P10 terminal silver plated
Plug-in/pull-out screw terminals with socket,
bent at 45° inwards
X 222 173 11 terminals silver plated
Plug-in/pull-out wire wrap terminals with socket
X 222 174 12 terminals gold plated

Splash cover/hex nut assembly with O ring (IP66 and IP67)

(approved to VG 95345, part 23)

X 200 801 03 matt black finish nut M12x1x1.8, black cover

X 200 801 08 nickel plated nut M12x1x1.8, transparent cover

X 200 801 09 matt black finish nut 7/16-32x1x1.8, black cover

X 200 801 10 matt black finish nut 7/16-32x1x1.8,
transparent cover

X 200 801 12 with blackened nut and transparent cover

M12x1 or
7/16-32

Actuator extension (black) to be fitted on the push button
(approved to VG 95345, T23)
X200 803 01

220
0.7‘87

.669

Identification collar to be snapped on the push button
Y 307 004 01 black

Y 307 004 02 white

Y 307 004 03 red

Y 307 004 04 green

Y 307 004 05 blue

.551
26.85
270

6.4
.252

212.35
.486

>
7,

Lock out ring to block the push button in OFF position
Y 307 005 01 red
Y 307 005 02 black

214.6

2015/16

This is a metric design and millimeter dimensions take precedence (%)

www.e-t-a.de 5-61




@ [EI=A Simulator switch, magnetic operation 9510-...

Accessories

Hex nut M12x1

Y 300 116 04 Marking inserts (push button configuration A or B)

Hex nut 7/16-32 hot stamped

Y 304 506 03 black green current rating (A)

Lock her 312/ 315 Y 307 280 01 Y 307 280 02 without

Y°;00";’?Z g X 222 175 01 X 222 176 01 0.5
X222 175 02 X222 176 02 1/2

Serrated lock washer @12.1 / ©17.2 X222 175 03 X222 176 03 1

Y'302911 01 X 222 175 04 X 222 176 04 15

Toothed washer @11.3 / @14.9 (MS 35333-141) X 222175 05 X 222176 05 1172

Y 304 507 01 X222 175 06 X222 176 06 2

Front plate with mounting thread 6-32UNC-2B X222 17507 X222 176 07 3

for threadneck 7/16-32UN X222 175 08 X222 176 08 S

Y 301 516 21 X222 17509 X222 176 09 7.5

Threaded sleeve X22217510 X 222176 10 71/2

Y 307 281 04 X 222 175 11 X 222 176 11 10

Extracting tool of marking insert Xeezlrs 12 Xeezlro2 1o

Y 307 301 01 X22217513 X222 176 13 20
X222 17514 X 222176 14 25
X222 17515 X 222176 15 30
X 222175 16 X 222176 16 35
X 22217517 X 222176 17 6
X 22217518 X222 176 18 40
X 22217519 X 222176 19 50
X222 175 20 X222 176 20 60
X222 175 21 X222 176 21 70
X222 175 22 X222 176 22 75
X222 17523 X222 176 23 80
X222 175 24 X222 176 24 90
X 22217525 X222 176 25 100
X222 175 26 X222 176 26 120
X222 17527 X222 176 27 125
X222 175 28 X222 176 28 150
X222 17529 X 222176 29 25
X222 175 30 X 222176 30 21/2
X222 175 31 X222 176 31 7
X222 175 32 X222 176 32 4
X222 175 33 X222 176 33 3.5
X222 175 34 X222 176 34 31/2
X222 17535 X222 176 35 1/4
X222 175 36 X222 176 36 3/4
X222 175 37 X222 176 37 8
X222 175 38 X222 176 38 14
X222 175 39 X222 176 39 45
X222 175 40 X222 176 40 R
X222 175 41 X222 176 41 0.75
X222 175 42 X222 176 42 24

All dimensions without tolerances are for reference only. In the interest of improved design,
performance and cost effectiveness the right to make changes in these specifications
without notice is reserved.Product markings may not be exactly as the ordering codes.
Errors and omissions excepted.

5-62 www.e-t-a.de 2015/16




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

